FE38LAfitA—TY b—F AV (—gDER)
—fxZ+ (33)

SHH6FE118168 ()

10/2 21INOPZIR

y-F  Rank K& PhiE @A Round 1 Round 2 Round 3 Quarterfinals Semifinals Final
1] 01 S|58 s7F J-J-X
UL J—3-X I/
5 o20lEA /Y U |ERDrIU-TC 83
5 81|D  F 2P 3Y—ITC 82
70|mi == J»IY—ITC Py~
4 160|108 = I»3—[TC 82
169|5uE  FE J»3IY—ITC N
. 40|si® WS PEPTC 4
- 36|TR 87 Y VRITS 84
63|late w& PLUM 5B/
S 43|x7 &8 TEAME 81
o — ek sE TIcAB® 83
s4lEx =5 A B S BB R REIRED -
ol s | 29pE0 =z DI o7
o4al=8 & FFEITC B R
ol | olmw wT 3Ry H2RDS5T 54
13|87 =i5E aBv+ UTC 8 /KT
i — e BmE or v VIRITS 85
— Xm ;‘f@% Jr \\J’P\J/—NTS R;%/Km
1o 50|2F mEE L2C2 84
13 s4|EE == T&SHRMITS 97
25 ;‘%.;:F ﬂi YeLL /55/15}77'(
14 51|t 83 Colors 80
58|k W SHX Py
is 84left BR® U |EENEYL T 83
o % peET =£953—TC Se
7l | 16lmE mA o |mEm-—m® d
16[1ERAK BF Jr Yel L R M RA
gl i | 21w meEx ZLYITC 80
28 BE_IgB E? ZTW—‘JX'( |\ %UJ/B@%B
15 1028 WF NHTU—VTC 81
103|ZR)| REF BROST=2/57 Bt /1]
- —|lB# =2 o s — S 86
—|inge gEx o IS — S Bt /1]
o 66|l 17T v VIRITS 85
sl sEPE QU TIL—TS T/
oo 37| EB7 Vel L 82
27K ERTF MYTC T
- 1490|HEA BB e N or
—|wE 28 IS BRI A Em/i9E
o4 solmE ®F LUV TIL—TS 82
77lEE 0HaF EMTC -
o5 s AES YONEX# a4t 85
20|88 W= J»IY—ITC Et e
sl )| 32 == 5-3-X 85
6|k BFF J—3—X N/ 3RFF
o 71|z BT YelL | 85
- _lems o o |TeSEEEITS 81
- 15|31 B8 Yel L 83
0 so|wis 157 TRSHRMITS 83
55|EA BHF SEO1PILTC e
21 —|EE g or Yel L 80
- E% ’m% dr YeLL UWW/?E%
30 109|FEiE —X T-Forest 85
aal| o | 11 |EE 2D TICAB® 80 =fRE
3 ETVQ 5&;@ YeLL K\‘E 95
KU &RE
IEmE/ S5
(1] 88 SF-=% =B (2] kE 32D-SK 520 [3~4] F@ # -85 3T #U 6T -&F =SbE 86
[5~8] 8 & -ERA BF I HRERHE BT KU #2X.08 BF B0 2055 57 BEE M Jr

a8 BE Jr




F30f itA—TY b= AV~ (F#RIDED)
45mUEEF (16)

HHN6EFE118178 (B

10/2 2{9NOPZER

J-F  Rank K& EREEIA Round 1 Round 2 Quarterfinals Semifinals Final
sl 8lmn m= J73U—ITC
3|r BFE Yel L
£)I|/ Py
82
> 55|68 & =XTO7IUJ-=TC
41 |BiE =2 FO—VTC
£)I|/ Py
82
3 411ES RE cresc.
55|WF & TR&SHEBITS
Y&8) 11/ INA
. 84
4 4|51 B8 YelLL
—|IZVK %REf J27X—ITC
2)||/prg
e ) 82
e || | mss PEPTC
15|l 788 Colors .
I/ S
84
5 —|z8 =3 J73U-ITC
—|5 P/ 27)—ITC
i YA
98(6)
7 13|58 K& =xXTO7=U-—TC
12| FHH YelLL
i YAl
- 81
3 36|tk B— KETU—FTC
36|k B=FE J—3J-X
£)I|/ Py
_ o7
9 16|RE  1EBB BXTF RS
28| A Cordell I v VTS
AJE/A.Cordell
98(10)
14|53 % F_ABF=E
AR /AR
84
11 20|88 BZ KTA.
35[FK 1BE KT.A.
AR /AR
83
12| 13 S5|K% TBE JrP=—ITC
O|FK  FOom J27)—ITC
AR /AR
84
13 25|85 T 2P IU—ITC
25|8AK IF& JPIU-ITC
F+)11/BX
. “ W.0O
14 17"+ 1B V3142V
4116840 —1Z =RXDOPIJ-=TC
EIH/ LU
\ 84
15 36 %:T’mﬁ 5[353 DID_ZTC
36|82 1 L2C2
EIH/ LU
81
161 12 o|B3H R J—3J-X =RREE,
TIWE FX 27=)—|TC
riE B—
Lk 1B=%
(1] Il R - b BE (2] @5 RE - LB EA 35t/ LIS
[B3~4] A& EE K F09N it &sh - sl 788 80
BH R

LS

FER




EF30fitF—TY b= AV (F#RIDER)
50mMULELZF (24)

HHN6F118178 (B)

10/2 24NOPZR

Yy-p  Rank K& PhiEEA Round 1 Round 2 Round 3 Quarterfinals Semifinals Final
11 o1 3|fgiE —X T-Forest
Cl - A= JPI—|TC
2 Bye
Maie/ 2
. _|ze mz Y UIRITS 86
—|®EH 7 I VIRITS e
4 —|Be8 BF cresc. 84
—|fiER  EZ2 cresc. WIS/ fEA
5 —|zm BF DI 86
38|EE WHF SHTC WIE/HEA
s — W 57 TRSHHEBITS 83
10|HER BHF =SB0 PILTC WIS/ HBA
86
7 Bye
sl | 36|EE BHEF JPI1—|TC
49(KE BF FINTC WIE/FEA
o | 3] 201181l B8 Yel L 82
31|l B v URITS
10 Bye
%B) 11/ # L
11 —|)\K ERF MYTC 83
31|#%&iE =& Yel L J\AR/ 1%
15 a7|EN S UIRITS 83
63|88 =F Iv IMITS )| /R L
13 38|HE+E =T Vv VRITS 84
—|¥E5x BAF I+ IMITS A4/ T
14 3slmeEH ven |HHFTC 82
—|#&)Il  DHYD BAT X /T
80
15 Bye
16l s | 47|BmE =R MYTC
221l =i Yel L B/ a5
7l | 258 m=z S VIRITS 82
50[tEtRA V3H Yel L
18 Bye
A=t
15 38|%BII_2%F  |BROST=2U5T 83
— = B2BE J2PIJ—TC a1
50 — |y @7 I URITS 83
50|88 RF [IFEZITC Al =Fag
- solwo &F TRSHHMITS 80
50|&H EBE= T&SHFFEBITS AL/ K|
o AW R 95 31—ITC 86
50Xl 18%= J2r7)—ITC /%) |
o7
23 Bye
oal ey | 23|80 EF JpIU-ITC
38X/l B=E PYVYATS Ry /=Y
o5l 7y | BO|mm 8ex POITS 5
20|45 B8 J7I—|TC
26 Bye
535/ VI
o7 —|EE Bz T&SHHBITS 53
50(n8 OH0 J—3—-X o35/
e I ST £/1TC 97
63|aF BF JDPI)—ITC Pz /(Piz
59 —|8K BT J7»31)—|TC o7
—|KE INEFF J2P73J—TC P/ P
- | == F—2EEa 84
11|1FPE BF YelL P/ (Pin
sS4
31 Bye
17|+ iz YelL W BEF
NI
(1] f8lE —% 52 IES [2] Bh WF-E4 B [3~4] @) S58F -0 BF B0 £F. 2 B2 B/ HALL
(5~8] 8B ZER-3WL =B PE BEF-ERA 03H W BE-fE =2 [ S5F - kT BF 86
Pix EB=E

P RF




